Comparison on the M(Afn*), deduct the resolution of tagged A}
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Comparison on the M,...(Afn™"), deduct the resolution of tagged A}
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Comparison on the M (At ™), deduct the resolution of tagged A}
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Comparison on the M,...(Af¥m ™), deduct the resolution of tagged A}
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Comparison on the M(Afn*) — M(AY)

Events/(2.5 MeV/c?)

—_ - N N w w - e
o (8} o (&)} o (8} o (@) ]
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

(&)}

Vs=4.915 GeV

e Data
MC_2595a

Bl McC_2595b

MC_2625a
B MC 2625

e+e'—>ig+ ¢
 IESeA
[ Abkg
BB qobke

Events/(2.5 MeV/c?)

B a (o))
o o o
I TTT | T 11 | T T | I TTT | T T | I TTT |

w
o

N
o

10

Vs=4.946 GeV

=—j— Data
MC_2595a

B MC_2595b
MC _2625a

- MC_2625b

0 A-bkg

6914 0.15 0.16 0.17 0.18 019 0.2 021 022 023 0.24

5 #14 015 0.16 017 0.18 0.19
M, . (GeVic)

0.2
M,..-M,. (GeV/c?)

021 022 023 0.24

At



Comparison on the M(Afn*), deduct the resolution of tagged A}
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Comparison on the M,...(Afn™"), deduct the resolution of tagged A}
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Comparison on the M (At ™), deduct the resolution of tagged A}
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Comparison on the M,...(Af¥m ™), deduct the resolution of tagged A}
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Comparison on the M(Afn*) — M(AY)
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Comparison on the M(Afm™) — M(AY)
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Comparison on the Data between two energy points
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Comparison on the Lc(2625)a MC between two energy points

AM > —0.1

Bs00

c

o)

>

13000
2500
2000
1500

1000

500

'_;:.I\I\‘\\\\‘\\\\|\I\I|IIII‘I\I\‘\\\\‘\

— 5=4.915 GeV

— \5=4.946 GeV

- -

242 244 2.46 2.48 25 2.52 2.54
+ -
M(AsT) (GeV/c?)
; —{5=4.915 GeV
; — 5=4.946 GeV
: | ‘ L | J_l L L L ‘ T Il 1 ‘ | | | ‘ 1 | 1 ‘
34 2.36 2.38 24 242 244 2.46 248 25

Meeo(AeTt) (GeVic?)

A500
c

()

13000
2500
2000
1500
1000

500

500

« Events

000
2500
2000
1500
1000

500

?

— 5=4.915 GeV

— \5=4.946 GeV

'_[:.IIII‘\\\\‘II\I‘\\\I‘\II\‘\\\\|III\‘

242

2.44

246 248 25 252 254
M(A.mt*) (GeV/c?)

— {5=4.915 GeV

— \5=4.946 GeV

|

34

2.36

2.38

2.4 242 2.44 2.46 2.48 25
Meeo(AeTt?) (GeV/c?)



Comparison on the Lc(2625)b MC between two energy points
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Comparison on the Sc++ MC between two energy points
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Comparison on the ScO MC between two energy points
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Comparison on the Data between two energy points
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Comparison on the LC(262 5)a MC between two energy points
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Comparison on the Lc(2625)b MC between two energy points
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Comparison on the Sc++ MC between two energy points
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Comparison on the ScO MC between two energy points
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